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QUESTION 1

If you partitioned the aggregation and RAN network layers into independent and insolated IGP domains, what will it do? 

A. Cross domain communication will be impossible 

B. The Core IGP will not scale 

C. it will increase the routing complexity and routing table 

D. it will reduce the size of the routing and forwarding tables in the RAN layer 

Correct Answer: D 

 

QUESTION 2

If a router receives routes from a route reflector, packets destined to the learned prefixes by default must go through
what path? 

A. To the next BGP hop 

B. To the BGP neighbor 

C. The Route Reflextor 

D. To the Next IGP hop 

Correct Answer: A 

 

QUESTION 3

Which three clock types can an ASR920 router be configured as? (Choose three.) 

A. Boundary clock 

B. Clock 

C. Ordinary clock 

D. Regular clock 

E. Transparent clock 

F. Ordinary, Regular 

Correct Answer: ACE 

 

QUESTION 4
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When configuring SAToP what must the framing be configured as? 

A. Framed 

B. Native 

C. Structured 

D. Unframed 

Correct Answer: B 

 

QUESTION 5

What technology allows for the network to simulate actual wired connections for TDM or ATM backhaul? 

A. SONET 

B. SyncE 

C. IPSEC 

D. Pseudowire 

Correct Answer: D 
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